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Note: First 15 minutes are allotted for the candidates to read the question.

paper.
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Instructions:

1) All questions are compulsory.
11) [llustrate your answers with labelled diagrams, wherever
necessary.
i11) Marks allotted to each question are mentioned against it.
CHECILIPRED)
(Multiple Choice Type Questions)
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Choose the correct option and write in your answer-book:

a)  Genetic engineering is useful in

1) Agriculture i1) Medical treatment
i11) Formation of vaccine 1v) All of these

b)  Which one of the following is not a false fruit?
1) Apple 11) Strawberry
111) Cashew 1v) Mango
c) The vector of Dengue (Break bone) fever is
1) Culex i1) Aedes
i11) Anopheles iv) None of these
d) The name of the plant pollinated by water is
1) Hydrilla i1) Pea
i11) Citrus iv) None of these
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CIREEERE L)
(Very Short Answer Type Questions)

=) [UD o1 90 &9 foifaq | 1
@) AATI T SHIHTEHATE 3 [HgT- fohe S foram? 1
) HUSS o 7T o MY T foha et o eqon =1 o7e= fomam om? 1
) ARSI A FIT S 2 1
T) Tohid (UC) © ATT RIT IHEId &2 1
a) Write the full form of IUD. 1

b) Who proposed the Chromosomal theory of Inheritence? 1

c) How many pairs of contrasting traits were studied by Mendel in

pea plant? 1

d) What are parthenocarpic fruits? 1

¢) What do you understand by patent? 1
GREIERES)

(Short Answer Type Questions-I)
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a) Draw only diagram of the structure of an Antibody molecule. 2

b) Differentiate between homozygosity and heterozygosity. 2
c) Write a short note on productivity. 2
d) Explain Mendelian law of segregation. 2
¢) Describe natural selection in brief. 2
(7Y I T-11)
(Short Answer Type Questions-II)
%) sieh ShTH Ud %< ShTd ah! GUSITST | 1%+1%
) Ieheieh AR shT T AT JUI SHITSTU | 3
) HshTHeh UTT 3T ISTELUT HISd AV ehitely| 3
) ST U %t ToIohTd o Hecd a1 9T ShifaTd | 1% +1%
a) Explain the back cross and test cross. 1Yat+1Ys
b) Describe the structure of seminiferous tubule. 3
c) Describe infectious disease with examples. 3

d) Describe the importance of seed and fruit development. 1%+17%

) N T Sia STENThT oh FATGT o1 Seeid i | 3
T) NUgdTE W U fer fewoft farfay 3
) ffeiiaa W fewuft foRaw -
(i) a8 (faras) 1%
(i) STHET | 1%
o) TSI ohi SATEAT SWRIh IS0 Hld hitsTg | 3
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a) Describe the contribution of biotechnology in agriculture. 3
b) Write a short note on Mendelism. 3

c) Write notes on following:

(1) Ringworm 17
(i1) Amoebiasis. 17
d) Explain symbiosis with suitable examples. 3

%) TTrEaert e UES{ferdT shi ST ISTe0r |ied hifsru | 1%+1%

) diet SIS aTet ol e (TTYy) 3T HeRtoT 8L shisT aTed sl 0 (Tryy)
Y o W HAT H HHTRIT BH1e1sY fohet STUTd | 8 i SFTE ol
STT Gl 22

(1) T AT L 1%
(ii) S qAT &L | 1%
) T 3T W fevanft fafay 3

=) FATSI ST ATed o T JTHehI1+E o {oIehTe o1 SUFh < @fed o
IS | 3

a) Explain the competition and parasitism with examples. 1%2+1%

b) When a cross is made between tall plant with yellow seed (TtYy)
and tall plant with green seed (Ttyy), in what proportion of the
following phenotypes could be expected?

(1) Tall and green 17
(i1) Dwarf and green. 17
c) Write a note on National Park. 3

d) Describe the development of male gametophyte of a angiospermic

plant with suitable diagram. 3
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(Foreqa s o)
(Long Answer Type Questions)

7. SAGAMIST gt ST = o BT 82 g e SEETstl U geArel i
ST I | 2+3

AT
A4 T W ey fefag) 5
7.  How does fertilization take place in angiospermic plant? Describe
post- fertilization structures and events. 2+3
OR
Write an essay on human evolution. 5
8. THctiad # & foreel a1 ol Aot qH=ATSY : 242V
(i)fsshecit SITAT shl HTeT 26t forRIvdTe
(ii)ITHG o Teh
(iii)ATS ST |
AT
TSeht SRTE T HToH U It 5
8.  Explain with diagram any two of the following: 2YVat2Ys

(1) Characteristic features of the structure of double stranded DNA.
(i1))Components of ecosystem.
(i11) Human ovum.

OR

Describe the dihybrid cross with diagram. 5
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fewoft farfRay 14242
Write short notes on any two of the following: 2%+ 2

(1) Genetically modified crops
(i1)) Components of nucleotide
(111) In-situ conservation.

OR

What is addiction? Write a note on its ill effects in young generation

and its control measures. 1+2+2
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